Pr. 1: Pr. 2: PF. 1: Pr. 2:
172 = 130002 = 172 = 130002 =
3582 = 17202 = 3582 = 17202 =
2952 = 182002 = 2952 = 182002 =
7352 = 37802 = 7352 = 37802 =
9782 = 81502 = 9782 = 81502 =
2982 = 22202 = 2982 = 22202 =
Pr. 3: Pr. 4: Pr. 3: PY. 4:
0,252 = 7,282 = 0,252 = 7,282 =
0,482 = 2,32 = 0,482 = 2,32 =
0,052 = 18,72 = 0,052 = 18,72 =
0,0172 = 99,32 = 0,0172 = 99,32 =
0,4562 = 26,22 = 0,4562 = 26,22 =
0,832 = 8,392 = 0,832 = 8,392 =
Pr. 5: Pr. 6 P¥. 5: Pr. 6
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Pr. 7: Pr. 8: Pr. 7: Pr. 8:
1+32-24+72= 92 _ 72 _52 = 1+32-24+4+72= 92 _ 72 _ 52 =
16+ 92 — 52 = 92,72 52 = 16 + 92 — 52 = 92,72 52 =
8+3.22-4.32= 112 +9%2 + 72 = 8+3.22—-4.32= 1124+ 92 +7%2 =
18—-9.(4—-2)+2.72 = 11 +92—72= 18—9.(4—-2)+2.7* = 11 4+92—72 =




